— & B F DR

=%
— - Z

AJ0OvY BAEZE [7/bSTC] BT | B = &z

D|EE-Z2A (&) @ @ 2/2 1

@ [1Ek- KX 1 @ 1,2 2

BIEEDH 0 1 02 3
BZ0OvY M= [79hSTC| BAES | M= = &2

D AR B @ @ 2,/2 1

@ |#0H - BEH 0 1 0./2 3

OIESEE:IER) 3 @ 1,2 2
covy BAEZ [ SSTC [&2%5/77] BE = JIE iz

DN -ET @ @ 2/2 1

Q|- 1 3 0,2 3

QFEE-FZF 0 @ 1,2 2
DJOvy BES | BES | BT | BE = &2

D |tHE Tk @ @ 2,2 1

PIES T 0 @ 1./2 2

AFN-Fith 0 3 02 3
EJOVY ;% -msTc] B JE& 1 [ 77FSTC] FE== = 53

OIENTEANT @ @ 2/2 1

Q Bk 5K 0 0 02 3

@ [ 4% 2 @ 1,72 2
Foowvs MSTC [7/FSTC[m®E -msTc] fE= = JIE {2

O | HEFT - @ @ 2./2 1

@|ILA == 0 1 0/2 3

OIEEREAS 1 @ 1,/2 2
Gc7ovs BAE S [7/hSTC| Mk | MR = JIE 3z

D |ZER-R @ @ 2./2 1

Q[KMH-EZX 0 2 0,2 3

QAR 1 @ 1/2 2
HDOOvy mE-msTc|7HRSTC| (BT | e | BE = JIE 12

D[k -+ A @ @ @ |[3/3 1

@ [¥& - 1L 1 0 1 0.3 4

OIET:EEET: 1 @ @ 2,/3 2

@ |#A - R 1 @ 1 1,3 3

N - F| ¥

— iR T FDER
AJ0OwvY BT | iBER ]| B [EES = JIE 2
D [FR-FE @ @ 2/2 1
Q| &%= 0 @ 1.2 >
QEW-£H 1 1 02 3
BZOvY BT | Rk B |7HSTC| B = Bz
OIGEEE @ @ @ 3.3 1
B EINIE 0 @ 1 1,3 3
@ [/ - F 0 1 0 0.3 4
OIE T 2 @ @ 2,/3 2
cJovy By | R | nEEEFE ] BE = JIE 152
D [EE-Ful @ 3 1,1 12 1
B ES-HEES 1 @ |11 ]+ 2
@A -KH @ 0 1.1 -3 3
REBETJOVY TED | BED | BiET | BE = [=Xid
DAL FR-FE @ 3 1,2 2
(@ [B1:#1 P - & IR 2 3 0/2 3
@ [C1:FAE-FL @ @ 2/2 1
ITEDER
AJOwvsh BY-BE|SHONBEBY| BER = =4
D |pE0 - EF @ 3 1,2 2
BINE3F: 37 1 2 0/2 3
Q[fEE-F5 @ @ 2/2 1
a—RE|Y
—BET A& —RBT
Ad—F Ba—+k Cca—+k
1 HEAT—A2 A1—A2 E1—E2
2 A1 —A2 B1—B2 F1—F2
3 B1—B2 Ci1—C2 G1—G2
4 B3—B4 D1—D2 H1—H2
5 Ci1—C2 A2 —A3 H3—H4
6 HEA2—A3 B2—B3 E2—E3
7 A2 —A3 C2—C3 F2—F3
8 B1—B3 D2—D3 G2—G3
9 B2 —B4 A1—A3 H1—H3
10 C2—C3 B1—B3 H2 —H4
11 HEAT—A3 C1—C3 E1—E3
12 A1—A3 D1—D3 F1—F3
13 B2—B3 H2—H3 G1—G3
14 B1—B4 H1—H4 REBF—T Ak
15 C1—C3 RBER—T AU | RBF—F AUk
16 R J—5 RBF—F AOF | REBEF—FAUF
17 R J—5 RBEF—F AOF | REBEF—FAUF
18 REE)—5




